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Jack’s school starts at ten to 9 and
finishes at quarter past 3

He uses the number line to
calculate how long the school
day is.

45 mins 4 hours 50 mins

TN MY

315 400 800 850

Jack works out the school day is 5 hours
and 35 minutes long.
Jack is incorrect.

Explain his mistake.




image1.png
Eva starts playing her piano 3
at 11:30 @

She plays for 45 minutes before having a
half an hour break.

She then plays for another 15 minutes.

What time did she finish?
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Eva and Mo are having a race.

It takes Eva 3 and a half minutes to
complete the race.

It takes Mo 3 minutes and 15 seconds.

| won because | got a
- higher time.
)

Is Eva correct?
Explain how you know.
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Tommy is halfway through watching his
favourite TV programme. He looks at his
watch and it shows this time.

The show is less than 1 hour long.
What could the start and end time be?

How many different start and end times
can you find?
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Lunchtime begins at:

Lunchtime ends at:

Teddy and Rosie are working out how
long lunchtime lasts for.

| did three quarters
of an hour then
added 10

Teddy

1 did 1 hour take
away 5 minutes

Whose method is correct?
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LI: Can | solve time problems?





 


 




   

